f2f4-pred!4°

f2f4+-pred{i:1}
(es; ff; f2f +; sndr; reur; €5 e)
=qer (snd-it(ff; £2f4Req(f2f+); e; sndr; rcur)
A (Ja:es-E(es)
((a c< e A rev-it(ff; £2f4+Ack(f2f+); a; sndr; rcor))
A (Vz:es-E(es).
(es-causl(es; a; ) A x ¢< e) = (—rev-it(ff; f2f4+Ack(f2f+); x; sndr; rcur)))
A (e = fifoSender(ff)(sndr.a)))))
V (snd-it(ff; f2f+Ack(f2f+); e; rcvr; sndr)
A (Ja:es-E(es)
((a c< e A rev-it(ff; £2f4+Req(f2f +); a; rcor; sndr))
A (Vx:es-E(es).
(es-causl(es; a; x) A x c¢< e) = (—rev-it(ff; £2f4Req(f2f+); x; revr; sndr)))
A (€' = fifoSender(ff)(rcvr,a)))))

clarification:

f2f4+-pred{i:1}
(es; ff; f2f +; sndr; reur; €5 e)
=qot (snd-it(ff; 24+ Req(f2f+); e; sndr; rcur)
A (Ja:es-E(es)
((es-causle(es;a;e) A rev-it(ff; £2f+Ack(f2f+); a; sndr; rcor))
A (Vx:es-E(es).
(es-causl(es; a; x) A es-causle(es;x;e))
= (—rev-it(ff; 2f+Ack(f2f +); x; sndr; rcur)))
A (e’ = fifoSender(ff)(sndr,a) € es-E(es)))))
V (snd-it(ff; f2f+Ack(f2f+); e; rcur; sndr)
A (Ja:es-E(es)
((es-causle(es;ase) A rev-it(ff; £2f4+Req(f2f+); a; rcvr; sndr))
A (Vz:es-E(es).
(es-causl(es; a; x) A es-causle(es;x;e))
= (—rev-it(ff; £2f4+Req(f2f +); x; rcvr; sndr)))
A (e’ = fifoSender(ff)(rcvr,a) € es-E(es)))))

http://www.nuprl.org/FDLcontent /p0-963683_/p23-462959_{ f2f!-pred } .html



